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305 HHA 23S 175 175 0
01 A =S 175 175 0
O LPG HEI AMEBSIHEA AIE HF B
1,457& = 20L * 63 175
307 QI2t0| ™ 43,000 43,000 0
02 DI2HEAMAIEE X 43,000 43,000 0




SUINADED
H: NGBS L(sEP4Ens)
o NARHMELSH(KAZHE) cholE )
2 S 4
CHB G (B) - HRAMY - BES 0l &t o8 il HlnE2
O 8sSAE #4dst X
53,750,000& = 14 = 80 / 100 43,000
T AEHZXEUY 20,000 20,000 0
01 A& HI 20,000 20,000 0
O MSANE ANE =5 WA
20,000,000& =« 14 20,000
JHBE U (SE MG NED) 1,209,400 1,353,800 A 144,400
el (sE4E) 1,209,400 1,353,800 A 144,400
Satztel 1,209,400 1,353,800 A 144,400
201 Let24d] 4,800 3,840 960
01 At 2teltl 4,800 3,840 960
O =&l 8,000& = 5% = 10& ~ 123 4,800
202 O4dl 13,200 10,560 2,640
01 SLHAYI 13,200 10,560 2,640
O oddl 20,000 = 5% = 11 » 12& 13,200
301 L2 A= 1,000 1,900 A 900
12 JIEtEA S 1,000 1,900 A 900
O sdln Ba3 & 1,000,000& * 14 1,000
401 AIEHIZ 28I 20,000 0 20,000
01 A& Bl 20,000 0 20,000
O 2ZEC SN2 THHE(MH2AEANL) A
o i 20,000,000& = 14 20,000
402 RI2HXt20l ™ 1,170,400 1,337,500 A 167,100
01 QU2 X2 AL B 2= (REHIXH &) 1,170,400 1,337,500 A 167,100
O RAiel &% X&
150,000& * 3,500ha * 100 / 100 525,000
O B ol&(NK)HIZ X2
80,000 = 3,500ha * 85 / 100 238,000
OH E2aX MeloH X3
80,000& * 3,500ha * 80 / 100 224,000
O gdsHAXA ‘JIﬁI(%ERﬁ‘:‘JI) X &
325,000& * 180CH = 40 / 100 23,400
O stsllsit s X3
2,000,0009 * 40ha * 50 / 100 40,000
O 20 MM K&
1,000,000 * 140ha * 50 / 100 70,000
O =dE H3Z3 X3
800,000 * 50ha * 50 / 100 20,000
O gESIH s XA
1,200,000& * 50ha * 50 / 30,000
SUESLSNYA(SLRAALLNEDL) 2,184,155 2,309,472 A 125,317
SARESENA(NSHEE )(SARESALELSIA) 1,541,657 1,697,682 A 156,025
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EN: SEFMEDEN
HM: HZDESHNF(SERMADNEN)
e SYHFEIN2AC(REXNZE ) ESADNEANDELESH) (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
O 2Y9F=3X EHOIX & FHeE H2A
1,430,000 * 14! 1,430
O FTEX =52 1= 250,000& » 129 3,000
02 2224 488,108 424,930 63,178
O 2222 2 HA 347,796
- EHFEXN ANMSS SANLS A A SO
(o= 963,0008 ~ 12& 11,556
- =HI 948 0SHH (LAY
50,000 * 8CH = 12&€ 4,800
- 2olcEI0e E3 M olEs
100,000 * 50CH = 12&€ 60,000
- 2olcEINe IS
30,000 * 86CH » 12& 30,960
- EZHXSAY ABEX, SL2H, SEDX
N &€ S 2,160 = 9,0000H ~ 12& 233,280
- TR VEHZ DIAAHE =2
80& = 30,0001 2,400
- EEX DR AHUIIE UR 2R
100,000& * 12& 1,200
- MNEX} BE2 S 900,000 = 4CH 3,600
O A& &Yl S Al 120,312
- EYHFAEI AMESE LSAIAE KA 24
934,000& * 12& 11,208
- FHEX2E T2 SIS
1,117,500& * 128 13,410
- FTEXNLEIE ASIIE QHUER T2
H SXNE 433,500 * 12&€ 5,202
- JIAMAZEE & SHOIK 22 K2
935,000& * 12& 11,220
- FAEI2E S0 SNES(SA |
830t S) 15,000,000 = 1A 15,000
- AEENE FENES IS RAESE
202,000& = 30H ~ 12& 7,272
- FEXNES DEE CCTVIHNICH RAIE2 %
57,000,000& * 14! 57,000
O Xpgk& ety 20,000
- =X SEXY RNV S
5,000,000 = 404 = 14 20,000
202 o4 | 31,680 31,680 0
01 2L Hl 31,680 31,680 0
O DEXNE LRET
20,000 « 129 + 112 ~ 12€ 31,680
401 AlEHIZL 2 0HY| 70,000 105,000 A 35,000
01 Al&H| 70,000 105,000 A 35,000
O =Y FEXSs CCTV & X
35,000,000 = 204 70,000
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ool OlMESES EER-ED
- _ _ RE!
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| | | O HEZ 20 5,0002 * 2,0000}2] 10,000
HNCAZL(SLREZ M) 70,183 72,933 A2,750
HECANZH(EAE) 70,183 72,933 A2,750
HolS2elos 70,183 72,933 A2,750
201 Lt 30,263 35,063 A 4,800
01 AL ZH 2l 10,880 15,880 A5,000
O YerxgY] 5,000
- MEHIIZS 2 A 2822 L oHYm S
A= 2,500,0002 * 23] 5,000
=ET 2,880
- MDD BYED| Ol
8,0002 * 3% * 103 * 12% 2,880
O gx=2 3,000
- SN HOIE 2=E I
600,000% * 1CH * 53 3,000
02 Z22dH| 19,383 19,183 200
O 2222 2 HMA 9,983
- SXEHIIZ AeHel £22
400,000 * 20= 8,000
-DASETE 2R
2502 * 1,966 A * 23 983
- REXM, BEZ, SHANLARLY2, 2A2
1,000,000% * 1CH 1,000
O Xtaresty] 4,000
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O A&ZHIS X 5,400
- EYHMYD| OEE ZuEA R B2
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O HIIS22 L SYHMY I NESS
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X HI (300 & 04 0fl &F) 17,000
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